& Manuals+

Home » Elektor » Elektor Arduino Controlled Drawing Robot Installation Guide =

Contents [ hide ]

1 Elektor Arduino Controlled Drawing Robot
2 Product Specifications

3 Product Usage Instructions

4 Components

5 INSTALLATION INSTRUCTION

6 Frequently Asked Questions

7 Documents / Resources

7.1 References

(Slektor

Elektor Arduino Controlled Drawing Robot



https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/elektor
https://manuals.plus/elektor/arduino-controlled-drawing-robot-manual.pdf

Product Specifications

¢ Arduino-controlled Drawing Robot
o Components:

o Arduino Nano -5

o Nano Shield — 1

o Bluetooth Module — 1

o Servos — 3
o Cables -4
e Screws:
o M2X8 -6
o M2.5x6 — 2
o M3x6 —2
o M3x8 — 15
o M3x10 -3
o M3x12-6
o M3x16 -2
e Nuts:
o M2-6
o M3-29
o Gaskets:
o M3 -2
e Spacers:
o Black Nylon M3x2 — 5
o M3x9 -2

« Additional Components:
o Springs 5x0.4x6 — 1
o Bearings M3x8 — 2

Product Usage Instructions

Step 1: Install Nano Expansion Shield
First, install the Nano expansion shield with 8x M3X8 screws and 4x M3X2 spacers in

the shown location.



Step 2: Install Bluetooth Module

Then install the Bluetooth module with 4x M3X12 screws with nuts.
Components

Screws

M2X8 —6
M2.5x6 —2
M3x6 —2
M3x8—15
M3x10—3
M3x12—6
M3x16—2

Nuts

e M2 —6
e M3 —29

Gaskets

e M3 —2

Spacers black Nylon

o M3x2 —5
e M3x9 —2

Springs

e 5x0.4x6 —1

Bearings

e M3x8 —2



e Arduino Nano —5

e Nano Shield —1
 Bluetooth Module —1
e Servos —3

o Cables —4

INSTALLATION INSTRUCTION

STEP 1

« First, install the Nano expansion shield with 8x M3X8 screws and 4x M3X2 spacers in

the shown location

STEP 2

¢ Then install the Bluetooth module with 4x M3X12 screws with nuts



i
=
~
o
x
"
=

.y u&

.:.Su.-n_...-mn._.

STEP 3

e Then install the bracket with 2x M3X8 screws with nuts



STEP 4

o Assembly this arm with the return spring



b

Sx0.dxs AWK Maxe BH

STEP 5

o Put them all together to the bracket



M3X9 REBEEE

STEP 6

o Nowassembly2servoswithM2X8 screwsand nuts



M2XB R+

STEP 7

o Add bearings to the construction



STEP 8

o Connect the frame with servos to the return spring

M3X8 B -
-~




STEP 9

¢ Install abother base bracket, and connect it to the servo frame

STEP 10

¢ Install the last servo



STEP 11

o Connect 3 servos to the Nano expansion shield as picture shown




STEP 12

o Power on, and wait until servos stop turning, then turn off the power

e Install servo arms horizontal as pictures shown

STEP 13

¢ Install 2 robot arms with M2.5X6 screws



STEP 14

e And M3 screws




STEP 15

e Install the pen holder

STEP 16

o Put it all together, and finish the assembly



Frequently Asked Questions

Q: How do | power on the drawing robot?
A: Power on the robot and wait until servos stop turning, then turn off the power.

Q: How do | connect the servos to the Nano expansion shield?
A: Connect 3 servos to the Nano expansion shield as shown in the picture provided in

the manual.

Documents / Resources

Elektor Arduino Controlled Drawing Robot [pdf] Installation Guide

Arduino Controlled Drawing Robot, Controlled Drawing Robot, Drawing R
obot, Robot

References

e User Manual


https://manuals.plus/m/185c6f27ee5a8010941ac5e322439f591e7d3f9b19b0aa558ae962244333b318
https://manuals.plus/m/185c6f27ee5a8010941ac5e322439f591e7d3f9b19b0aa558ae962244333b318
https://manuals.plus/m/185c6f27ee5a8010941ac5e322439f591e7d3f9b19b0aa558ae962244333b318_optim.pdf
https://manual.tools/?p=16684599#MTA0LjI4LjIwMi4xNzk7Ozs7

@ Arduino Controlled Drawing Robot, Controlled Drawing Robot, Drawing Robot, Elektor,
m Elektor Robot

—Previous Post

Elektor LI1 Laser Line Projection Angle Gauge Instruction Manual
Next Post—

elektor SKU 21087 Mini Wheelie Self Balancing Robot Kit Instruction
Manual

Leave a comment

Your email address will not be published. Required fields are marked *

Comment *

Name
Email
Website

[T Save my name, email, and website in this browser for the next time | comment.

Post Comment

Search:

e.g. whirlpool wrf535swhz m

Manuals+ | Upload | Deep Search | Privacy Policy | @manuals.plus | YouTube

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos


https://manuals.plus/category/elektor
https://manuals.plus/tag/arduino-controlled-drawing-robot
https://manuals.plus/tag/controlled-drawing-robot
https://manuals.plus/tag/drawing-robot
https://manuals.plus/tag/elektor
https://manuals.plus/tag/robot
https://manuals.plus/elektor/li1-laser-line-projection-angle-gauge-manual
https://manuals.plus/elektor/sku-21087-mini-wheelie-self-balancing-robot-kit-manual
https://manuals.plus/
https://manuals.plus/upload
https://manuals.plus/deep-search
https://manuals.plus/privacy-policy
https://x.com/manualsplus
https://www.youtube.com/@manualsplus

are registered trademarks owned by Bluetooth SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of

these marks on this website does not imply any affiliation with or endorsement.



	Elektor Arduino Controlled Drawing Robot
	Product Specifications
	Product Usage Instructions
	Components
	INSTALLATION INSTRUCTION
	Frequently Asked Questions
	Documents / Resources
	References

	Post navigation
	Leave a comment

